
Time: 10 Minutes Paper Math 7 (T-1) Total Marks: 10

4th Month, 1st Week, 6th Day Revision Test (1st Week)

Q.1. Choose the correct options.   (1 x 10 = 10)  
(i) Convert 95 km into m we get:  95

(a) 9500m (b) 95000m (c) 950000m (d) 950m

(ii) Convert 75km 800m into m we get:

 800  75

(a) 6688m (b) 75800m (c) 75880m (d) 7588m

(iii) Convert 72m into cm we get:  72

(a) 7200 cm (b) 720cm (c) 7020cm (d) 72000cm

(iv) Convert 8m 25cm into m we get:

(a) 8.05m (b) 8.25m (c) 8.250m (d) 0.825m

(v) Convert 15 hours 30 minutes into minutes we get:

 30 15

(a) 930min (b) 940min (c) 950min (d) 960min

(vi) Convert 108 days into weeks we get:  108

(a) 10 weeks (b) 12 weeks (c) 15 weeks (d) 20 weeks

(vii) Convert 10 months 25 days into days:

 2510

(a) 310 days (b) 325 days (c) 320 days (d) 325 days

(viii)Convert 16:30 into 12 hour time we get:

 12 16:30

(a) 2:30p.m (b) 4:30a.m (c) 4:30p.m (d) 2:30a.m

(ix) 1 Km =?

(a) 10m (b) 100m (c) 1000m (d) 2000m

(x) Convert 2m 35cm into cm we get:

(a) 235cm (b) 240cm (c) 245cm (d) 250cm

Q.2. Answer the following questions: (2x4=8)  
(i). Convert:              

(a) 120m 78 cm into cm.  78120

(b) 27km into m.  27

(ii). The length of two ropes are 20cm 2mm and 15cm 9mm. What is the

difference between the lengths of two ropes in mm?     

 9  15  2  20 


(iii). Ali left home for school at 8:00 a.m. and arrived school at 8:30 a.m. He

remained at school for 5 hours 15 minutes. When did he get off from the

school? How much time he remained outside home?      

 15 5  8:30  8:00 


(iv). Convert: 
(a) 1years 6months into months  6 
(b) 7weeks 5days into days

Q.3.The distance between Azra's house and Masjid is 4500m. The distance

between Ayesha's house and Masjid is 7600m. Whose house is near to the

Masjid and how much in km?      (1x4=4)

 7600  4500 


Q.4. Hameed takes 3 weeks 6 days to complete 9 science model. How many

days does he spend to complete the science model? Also convert the days

into hours.      (1x3=3)

 63 

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